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2019

ECONOMICS — GENERAL
Paper : CC/GE-2
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.

NFARG Ao T o !
Tomt - =
S| @ T THE Tl We ¢ x50
(F) @Mt o™ (Classical Dichotomy) F1CF <& ¢
() @ oM SestTm wieel wie |
(o) @t APS = 3/5 =%, S8 APC-4F 39 F57
() FefI=pi =it (Phillips Curve) e
(&) o9 9@ [RYgo s |
(%) e 91 (Broad Money) 1T 0512
() A TFe 938 e Sge-7 eTen e
(&) AT O0g FNEF S (@RI Ao Tzt 2

@) T G = v,000 (i BIFl, el = 4,000 (A B, I = ¢,000 @HHR S [ = 33,000 @
Bt 27, O S WE Fe?

(98) AR O TSI (Sl5 SoAa [WREyehr § Fe
(©) elifes (Sist g3 7@l vis |

(2) T Tl AT o T e 2

(®) wiowE STm =4 SifEwiy wiew e |

(5) FufBere ST beraa 5 Swizsd 7 |

(@) = e @l qEre S @A

Please Turn Over




(M(an Sm.)-Economics-C C/GE—Z/CBC.S] 2)

2
9l
81
@l

Y|

41

bl

@l

so|

301

et - 4
@I femfs e St el ¢xo
=31y ey I e qiaey
AfgETelste o e #wte
T (PR ©ig R a0
SIS SR AR oS> A |

feiet - ot
(T forle etaz Seq wie |

() @FB Fae TN WGl e RS Selg 7l ey GreE s Weie et |
(*) T S =0.2Y - 100 922 1 = 100 =, O(F O S Sig H0T S, 199 S =73, [ = [ |

RN
() =fifers Twef Fonm w7 F52

(}) @R wien Fageiel $He . are
(=) viEn e JErFfe ¢ I Jaste ErEifes Al @

(2) qErdfe Nl #%® s B i g
(F) [T [T 2

(2) SEpEenefE =S T $ Reely gemies Aoty seide iidee e (gains from trade)
AT FE | e

(%) i oUg FegEierea FeAee By w |

() 7 BTG T ¢ o SErefeR SRy NN WNAReR el i F 8+
[ English Version |

The figures in the margin indicate full marks.

Group - A

. Answer any ten questions of the following : 2x10

(a) What is classical dichotomy?




(3) LM (2nd Sm.)-Economics-C C/GE—2/CBCSJ

(b) Define Gross Domestic Product.

(c) If APS = 3/5, what will be the value of the APC?

(d) What is Phillips Curve?

(e) State the Say’s Law.

() What is Broad Money?

(g) Distinguish between Balance of Payments and Balance of Trade.

(h) What is the shape of the Aggregate Supply Curve in the classical model?

(i) If wages = T 8,000 crores; rent = ¥ 7,000 crores; interest = ¥ 5,000 crores and profit = ¥ 11,000
crores, what will be the national income?

(j) What are the features of short-run consumption function in the Keynesian model?
(k) Define marginal propensity to consume (MPC).
(I) What is high powered money?
(m) Define speculative demand for money.
(n) Give four examples of macroeconomic variables.
(o) What is meant by Credit Multiplier?

Group - B

Write short notes on any three. 5%3

. Free Trade versus Protected Trade

. Quantitative Credit Control measures

. Investment multiplier in Simple Keynesian Model

. Methods of correcting disequilibrium in the Balance of Payments

. Equivalence between the methods of estimating national income.

Group - C
Answer any three questions.
. (a) Determine the equilibrium national income in a Simple Keynesian model through the savings-
investment approach.
(b) IfS=0.2Y — 100 and I = 100, find the equilibrium national income where S = Savings, I = Investment.

8+2

. (a) How do the commercial banks create credit?

(b) What are the limitations of the theory? 7+3
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Distinguish between demand pull inflation and cost push inflation.
What do you mean by anti-inflationary policies? 5+5
What is opportunity cost?

Discuss the gains from trade obtained in Ricardo’s comparative advantage theory by clearly stating
the assumptions. 2+8

Mention the functional relations in the classical model.

Explain the process of determination of the equilibrium values of nominal and real variables in the
classical system. 4+6




